b7 o0 i A
6 110
45
T[]
s SR
2 110
S
o© 110 Ko - o
[=) < —
= S — —
600
EhRFERE K
170_,120, _170_80 60
40
R
® %
5
o
©
H1 é
®
©
o
3
S
5
225
600

1= CEERR AR

IEmE 2000
500 1000 500
o o
© <
w 3
B @ -
| 25
3 S
S0 ) O @
o
e 2 S
e .
S
425 @
2@179
63 =358 6@193=1158
CEEER
EHE 2000
500 1000 500
°
=
o
3
25 - 25
(@) / 3
o
3
<

SREMT X

@)D101=970 n=11
5

450

@2 D10 L=215 n=4
215

=

%
o
450

@1DD6 L=1915 n=9

1915

@2)D10L=756 n=11

281

L

281

e FLoA—IL

600X 2000

SEES 624 kg

EAREMHEARE V)ENVI)—H




